


Year 1 Unit 7: Exploring 
calculation strategies within 20 

Lesson 3: ‘Make ten’
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Using reasoning

Less than 𝟏𝟎 Equal to 𝟏𝟎 Greater than 𝟏𝟎

𝟓 + 𝟔

𝟒 + 𝟓

𝟑 + 𝟗

𝟗 + 𝟒

𝟐 + 𝟔

𝟖 + 𝟐
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Key learning: To use the bead string to represent the ‘make ten’ strategy

‘make ten’ whole

partition addition

part subtraction



Representing addition using ‘Make ten’ on a bead string
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𝟖 + 𝟔



Representing addition using ‘Make ten’ on a bead string
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How many beads do I need to add to 8 to make 10?

8 + 6 =

https://o.remove.bg/downloads/52440ae3-2921-4a3d-a765-e7f88c652c86/long_beads-removebg-preview.png


Addition ‘Make ten’ on a bead string
T

a
lk

 T
a

sk

I pick eight plus five. I 

know I can use ‘Make 
ten’ because eight plus 

two is equal to ten so 

eight plus five is greater 

than ten. 

I’ll make eight on the bead string 
first. One, two, three, four, five, six, 

seven, eight. Then add five. I can 

see I need two more beads to 

make ten. Then I’ll need three 

more because five is made of 

two and three. (Slides two beads 

and then three beads.) 

That’s thirteen in total. 

Eight plus five is equal 
to thirteen.







Representing subtraction using ‘Make ten’ on a bead 
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13 − 5 =



Representing subtraction using ‘Make ten’ on a bead 
string D
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How many beads do I need to subtract from 13 to make 10?

13 − 5 =
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Key learning: To use the bead string to represent the ‘Make ten’ strategy

I've shown 'Make ten' on a 

bead string. To make 10, I 

subtracted four beads 

first, then another two, 

because six can be 

partitioned into four and 

two. There are eight 

beads left.
I've shown 'Make ten' on a 

ten frame. I took away the 

four ones first, then needed 

to subtract two more, 

because six can be 

partitioned into four and two. 

I was left with eight.

𝟏𝟒 − 𝟔





‘Making ten’ strategy
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on a ten frame or a bead string?

Why?




